



Search Doc

1 -
2 -
3 -
4 -
5 -
6 -
7 -
8 -
9 -
10 -
11 -
12 -
13 -

Daniel A. P. Agomare
17/06/2023

Computer Engineering

$$x(x-1)y'' + (3x-1)y' + y = 0$$

$$x(x-1)y''$$

expand \downarrow \vee

$$(x^2 - x)y'' \quad w = uv$$

$$= y^{(n+2)}(x^2 - x) + n y^{(n+1)}(2x-1) + \frac{n(n-1)}{2!} y^{(n)}$$

$$= (3x-1)y'$$

$$v = 3x-1$$

$$u = y^*$$

Using Leibnitz theorem,

$$= y^{(n+2)}(3x-1) + n y^{(n+1)}(3)$$

$$\textcircled{2} y(x)$$

$$u = y$$

$$v = 1$$

Using Leibnitz theorem

$$\left\{ y^{(n+2)}(x^2 - x) + n y^{(n+1)}(2x-1) + \frac{n(n-1)}{2!} y^{(n)} \right\} + \left\{ y^{(n+2)}(3x-1) + n y^{(n+1)}(3) \right\}$$

$$y^{(n+2)} + \{n(n-1) + (3n-1)\} y^{(n+1)} + (n+1)y''$$

$$(y^{(n+1)})_0 = \frac{-(n(n-1) + 3n + 1)}{-(n+1)} (y^{(n)})_0$$

$$(y^{(n+1)})_0 = (n+1)(n+1) (y^{(n)})_0$$

$$(y^{(n+1)})_0 = n+1 (y^{(n)})_0$$

When $n=1$

$$(y^{(2)})_0 = 2(y^{(1)})_0$$

When $n=2$

$$(y^{(3)})_0 = 3(y^{(2)})_0 = 3(2(y^{(1)})_0)$$

When n is 3

$$(y^{(4)})_0 = 4(y^{(3)})_0 = 4 \cdot 3 \cdot 2 (y^{(1)})_0$$

When n is 4

$$(y^{(5)})_0 = 5(y^{(4)})_0 = 5 \cdot 4 \cdot 3 \cdot 2 (y^{(1)})_0$$

When n is 5

$$(y^{(6)})_0 = 6(y^{(5)})_0 = 6 \cdot 5 \cdot 4 \cdot 3 \cdot 2 (y^{(1)})_0$$

When n is 6

$$(y^{(7)})_0 = 7(y^{(6)})_0 = 7 \cdot 6 \cdot 5 \cdot 4 \cdot 3 \cdot 2 (y^{(1)})_0$$

When n is 8

$$(y^{(9)})_0 = 8(y^{(8)})_0 = 9 \cdot 8 \cdot 7 \cdot 6 \cdot 5 \cdot 4 \cdot 3 \cdot 2 (y^{(1)})_0$$

using Maclaurin series

$$y = (y)_0 + x(y^{(1)})_0 + x^2(y^{(2)})_0 + x^3(y^{(3)})_0 + x^4(y^{(4)})_0 + x^5(y^{(5)})_0 + x^6(y^{(6)})_0 + x^7(y^{(7)})_0 + x^8(y^{(8)})_0$$

$$y = (y)_0 + (y^{(1)})_0 \{ x + x^2 + x^3 + x^4 + x^5 + x^6 + x^7 \}$$

$y(0) = 0.0005$ and $y'(0) = 0.0005$

$x = 5$

$$y = 0.0005 + 0.0005 \{ 5 + 5^2 + 5^3 + 5^4 + 5^5 + 5^6 + 5^7 \}$$

$y = 48828$

≈ 49

$x = 8$

$$y = 0.0005 + 0.0005 \{ 8 + 8^2 + 8^3 + 8^4 + 8^5 + 8^6 + 8^7 \}$$

$y = 1,9837205 \approx 1,198$

$x = 10$

$$y = 0.0005 + 0.0005 \{ 10 + 10^2 + 10^3 + 10^4 + 10^5 + 10^6 + 10^7 \}$$

$y = 1,98372$

$\approx 1,198$

Common

clear

clc

close

$x = 0 :$

$y = 0.0$

$+ x.$

plot

x label

y label

title

grid

grid

axis

axis

axis

axis

axis

axis

axis

axis

axis

axis

axis

axis

axis

axis

axis

axis

axis

axis

Command window

clear

clc

close all

$x = 0 : 1 : 10;$

$y = 0.0005 + (0.0005 + (x + x.^12 + x.^13 + x.^14 + x.^15 + x.^16 + x.^17));$

plot(x, y)

xlabel('Length')

ylabel('Deformation')

title('Length - Deformation')

grid on

grid minor

axis equal

axis tight